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Education and Manpower Bureau
Territory-wide System Assessment 2006

Primary 6
English Language
Listening

Instructions:

1. There are six pages in this booklet.

2. Answer all questions.

3. The time allowed is about 30 minutes.

4. The recording will be played continuously until the end of the

listening test.

5. Write your answers in this question booklet.

6. Write your School Code, Class and Class Number in the spaces below.
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Part 1

Paul and his mother are talking about a cookery contest.

Part 1A

Paul and his mother are talking about what to buy for the cookery contest.
Listen to the conversation. It will be played once only.

Tick I the correct picture.

A. B. Marker’s
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Part 1B
Paul is telling his mother how he will make the dish.

Put the pictures in the correct order. Write the number (2 — 7) in the correct picture.

A. B. Marker’s
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Part 2

Paul is listening to a play on the radio.

Listen to the play.

Tick M the best answer.

1. Where are the rich man and the baker?
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2. Why does the baker speak first?

A. Heis polite.

He wrote a report.

B
C. He went to the police.
D

3. What does the baker think of the rich man?

The baker thinks the rich man

A. enjoys his bread

has eaten his bread

B
C. never likes his bread
D

. never smells his bread

4. How does the rich man feel?

A. sad

calm

B
C. bored
D

angry
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He is more important than the rich man.
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5. Number the correct order of events. Marker’s
Write the number (1 — 4) in the correct picture. Use Only
(30)-(33)

6. Why does the judge ask the baker to count the rich man’s coins? (34
He wants to

A. make the baker happy

B. let the baker feel the rich man’s money

C. give the baker a chance to steal the rich man’s money

D. find out how much money the rich man has

7. What do you think the judge is going to do to the baker and the rich man? 39)

A. Set them both free.

B. Put them both in prison.

C. Make the rich man work for the baker.

D. Ask the baker and the rich man to come back tomorrow.
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Part 3

Paul is listening to a radio programme.

Listen to the radio programme.

Tick M the best answer.

1. Which age group is this programme for?

A.

B
C.
D

8 — 12 years old
13 — 19 years old
20 — 29 years old

. 30 —40 years old

2. What is today’s programme about?

A,

B
C.
D

exercise

. the brain and fingers

badminton and football

. playing computer games

3. Why was Sammy surprised?

A teenager

A.

B
C.
D

got on the wrong bus

. walked to the next stop

could only walk a short distance

. took the bus to go one stop

4. According to the doctor on TV, how many steps should we walk a day?

A.

B
C.
D

100
1,000
10,000

. 100,000
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5. Mary goes for a quick walk. How long is it?

o 0w

A. 5 minutes

10 minutes
20 minutes

60 minutes

6. What does John suggest we should do at examination time?

A.

B
C.
D

Work hard.

. Have a short rest.

Get enough sleep.

. Study on the computer.

7. What is Sammy going to talk about in the next programme?

A.

B
C.
D

Kung Fu

. Cantonese films

Chinese dance

. Canto-pop

END OF THE LISTENING TEST
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